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However Terumah and Kodshim  — 373 X315 70 252797 72190 9aR
can make 7Tomei, items similar to themselves

OVERVIEW

Our X773 cites a Xn™12 which derives from the P105 which states' X177 8au that food
(523%) which is Xnv cannot be Xaun another 2218, However, »aX maintains that this
limitation applies only to 1?1 food (which has no nw17p), but foods which are
either 72170 or DW7P can be Xnun other foods (which are 72170 or wp).? Our
nooIn discusses the source for this difference between 121 and 2°w7PY 71N,

- 580 YN BNYN IR *NT XIPN 72937 *009pa W
“""w= explained that this rule that 21X is 721X &nwvn by 2°w7p is derived from the
1D in "1 which states 7°13577 ®RY anv7 BN,

Mmoo anticipates a difficulty:
= 9090 UNOIN [Px, 0711 )P W97 ON 1993299

And according to the n''2 who explains later that the words 71377 PX1' means ‘or

to the 7912° (not, ‘and to the 71°); meaning that he touched either the bread or the 711 with the
1732 710, in which case there is no proof from that P109 that 92 is 7918 Xnvn. According to the
n"9, from where do we derive that 921X is 7918 Ravn by 2w7p?

mooIn responds:
= OIND 1PPON (V1 napn) DINY NI RNV D52 Y29 9UN 9WANIIN NPT RPAIT PNYY 13249 99N

The >'""1 explains that we derive it from the 705 of X% KW Y22 px° WK Wwam

' The p109 in 72,8 (C1aw) XIp reads: 027 KT X1b 17y ON923 03] ¥7 9 o 1A *21. The words X171 Xnv indicate that
only this food is Xnv but it cannot be Xnvn other foods (see &nv X171 7"7 "W). [It can however be apwn Rnvn
(according to the view that pwn is 7707 12 A8ML 72pn).]
* See ‘Thinking it over’.
a8 7" 2.
* The 109 there (in 2,2 ") states: 228 22 28) T 28 77 280 7137 28 D70 2% 19322 933) T2 N192 WP W3 UK Ky 17
X2 1IMK7 0°1797 1Y WD, The *31 8°21 was testing the 0°177 if they know the laws of 7xmw, and he asked them if a
yIw (which is an 7807 2R) touches bread (making it a IRMWY? MWX") and the bread touched the 711 (cooked food)
making the 7°11 a XmIw? *1w and the 711 touched the wine (making the wine a I8mv? *w %) and the wine touched the
oil (or any other food) will there be a fkmv? *v>27 by 2°w7p. In any event it is apparent that the 711 certainly becomes
a MY 1w from the an% even though they are both 92WR. This proves that by °w7p an 99X is Xnvn another 931X,
5 syo37 7"7 'on X,1. According to maoin there, the question of °i1 was in a case where the YW (the aXmvA IX)
touched 1732 715 (making it a AR™MB? PWKD), which then touched either on? or 711 (making them a nXmv? *1w), who in
turn touched either 1 or 2w (making them a aR™Mv? *w2w), which in turn touched 2381 73 (making it a IxmWYH *¥°27).
In any event there is no case of 791 Xnun 99X,
6 ?109. The 770 writes that if 2°w7p w2 touches any XMW it cannot be eaten.
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®a8%; the words Xnv 922 indicate that the wpn w2 will become Rnv if it touches
anything that is Xnv, even if it is an Xnv 92IN.

mMooIN responds to an anticipated difficulty:’
- 231791 9341 89N NIPN 9199199 139819 XY 1195 1D XPOY NI

And we derive that by 7210 also, 70 is 221X Xnvn, since we cannot assume
that 210257 927 X% KPR (that I8 Xnvn 99X X is a universal rule) -

19990 939507 7391 39713 RIP 5PN )N RS PYIYT DIWTP NIIN NNT
For there is 2"27p where 372 X212 PR (that 70X is 921X ¥nwvn), therefore we will

establish the o2 of X177 Xnv, where it is more likely, namely by 'P’ﬁn,w but not by
1.

SUMMARY

DIR Rnwvn 9918 by o2w7p is derived from 3 according to *"'wA; according to mooIn it
is derived from Xnv 951 3 9wR. Once we cannot say that 2218 Xnvn 92X X is
universal, we limit it only to 11, but not to 7270 (or DWIP).

THINKING IT OVER
When we say that 92 is 228 ®nvn by o°w7p,'" does that mean that the xnun and
the &nv1 both have to be 2°w7p or that just one of them has to be D’W?p?lz

" From the 0’105 mentioned we can derive that %X is 2218 Xnvn by o°w7p; however from where do we know that
991X can be 921 ®Xnun by a1 n? [This question is (seemingly) also according to *"w1 (see yIRW Moo and w70
1"77). However the 701 WX explains that according to >"w7, the word 7°11 (referring usually to a porridge of sorts)
means a 7°11 of 7m17N, (which is made from grain).]
¥ See footnote # 1. X1°2 shortly maintains that 210377 927 X9 Xp», meaning that the exclusion derived from X7 Xnv
that 99 is not 9% Xnwn, is all inclusive and applies to 2w 7170 as well as to P71, However, now that,
according to 2R, we derive (from either of the abovementioned 0°p109) that it does not apply to °w7p, therefore we
can no longer state 211377 727 X7 Xpn as X121 maintains, we can therefore further qualify this limitation that it
applies only to 1°2117.
? 7mnn will be considered more like ow7p (you cannot eat it IRMv3, etc.), than like 191
1% [By 1911 there can only be a axmu? *3w (not a *w*9w); however by 77N there can even be a "W, therefore it is
likely that the w131 of 221 Xnun 22 X applies more readily to 127 than to 7m7n.]
' See footnote # 3.
2 See nnmD Mmwn owa ,vax 772 (wIn) NXPn aww that it depends on the npYonn between "0 "W, (7AW W AMINDY
1IN0 RALAT 12081 7% 19727 7102 0'"'Y)
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